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17. a) Tim up,
b) Tim up,
c) lim up,
d) Tim uy,
e) Tim wn,
f) Tim up,
g) lim up,

h) Sea €

Capitulo 2

1. Continua em

3. g(0)=1

4 a) a=—
b) a:g,
c) a €R,

= +o00; lim up, =0
=1; lim u, = —1
= +o00; lim up, = —1
=1; lim u, = —1

= +o00; lim up, =0
:1,h_mun:O

= +o00; lim u, = —00

7r 3
— + 2kw, — 4+ 2km|, k € Z,
g T A

=3, 30\M0}

15.

17.

lim u, = sen(a); lim u, = —sen(a)

5 7
Seac {Iﬂ+2k7r,f+2k7r] kez,
lim u, = —sen(a); lim u, = sen(a)
Seac [—5+2im,f+2/m] ke,
= 4 4
lim un, = cos(a); im u, = — cos(a)

3 5
Seac {Iﬂ+2k7r,f+2k7r] kez,
lim u, = — cos(a); lim u, = cos(a)

i) Tim un = +oo; lim un =0

j) im up = 4o00; lim up = —00

b) f n3o estd definidaem z =3
f é continua ema =0
f ndo é continua em z =0
lim f(z) =0

f é descontinua em Z\ {-2,0,2}



